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NEW QUESTION 1
Which design element is a best practice when deploying an 802.11b wireless infrastructure?

A. disabling TPC so that access points can negotiate signal levels with their attached wireless devices.

B. setting the maximum data rate to 54 Mbps on the Cisco Wireless LAN Controller

C. allocating nonoverlapping channels to access points that are in close physical proximity to one another
D. configuring access points to provide clients with a maximum of 5 Mbps

Answer: C

NEW QUESTION 2
When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two)

A. 2000::/3
B. 2002::5
C. FC00::/7
D. FF02::1
E. FF02::2

Answer: DE

NEW QUESTION 3
Which command prevents passwords from being stored in the configuration as plain text on a router or switch?

A. enable secret

B. service password-encryption

C. username Cisco password encrypt
D. enable password

Answer: B

NEW QUESTION 4
Which type of wireless encryption is used for WPA2 in preshared key mode?

A. TKIP with RC4
B. RC4

C. AES-128

D. AES-256

Answer: D

NEW QUESTION 5
Refer to the exhibit.

niernet 5
—10.10.11.0/30 g 5
: — 10 10 10 0128 —

- - 2 ‘= e — i | e &

i — d M Y 19 /2
y e kit Gd Router1 Switch1 Host A

MPLS 101013 214
Routeri#show ip route
Gateway of last resort is 10.10.11.2 to network 0.0.0.0

209.165.200.0/27 15 subnetted, 1 subnels
B 209 165 200.224 [20/0] via 101012 2, 03-22:14

208 165 201 027 5 subnetted, 1 subnets
B 209.165.201.0 [20/0] via 10.10.12.2, 02.26:33

209.165 202 /27 is subnetted. 1 subnets
B EE*E'EEJ‘IH [20/0] wia 10.10.12 2, 02:26:03

10 0.0 V8 15 vanably subnefted, 8 subnets, 4 masks
C T: 10.10 0/28 is directly connected, GigabitEthermet(/0
C 10.10.11.0/30 15 directly connected, FastEthermet2/0
C 10.10.12.0/30 is directly connected, GigabitEthernet0/1
O 10.10.13.0/25 [110/2] via 10.10.10.1, 00:00-04, GigabitEthemet0/0 Ly
O 10 1013128728 [11072] wia 10 10 101, 00-00-04, GigabiEthemet(/0
0 10 10 13.144/28 [110/2] via 10 10.10 1, 00:00:04, GigabidEthemet(/0
0] 10.10.13.160/29 [110/2] via 10.10.10.1, 00.00.04, GigabilEthernet0/0
0 10.10.13.208729 [110/2] via 10.10.10.1, 00:00:04, GigabilEthemet0/0
5* 000 ﬂ['i}]vaﬁ"“z

Which prefix does Router 1 use for traffic to Host A?

A. 10.10.10.0/28
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B. 10.10.13.0/25
C. 10.10.13.144/28
D. 10.10.13.208/29

Answer: C

NEW QUESTION 6

How does HSRP provide first hop redundancy?

A. It load-balances traffic by assigning the same metric value to more than one route to the same destination m the IP routing table.
B. It load-balances Layer 2 traffic along the path by flooding traffic out all interfaces configured with the same VLAN.

C. It forwards multiple packets to the same destination over different routed links n the data path

D. It uses a shared virtual IMC and a virtual IP address to a group of routers that serve as the default gateway for hosts on a LAN
Answer: C

NEW QUESTION 7
Refer to the exhibit.

Arlantagpesnt T

Enter configuration commands, one per line. End with CNTL/Z.
Atlanta (config) faaa nev-model

Arlanta (config) fass anthenrication login defanlt local
Atlanta (config) #line vty 0 4

Atlanta(config-line)#login authentication default

Arlanta (config-line) faxit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadnin privilege 13

Arlants (canfig) fanabls passwerd clscslldl

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?

A. adminadmin123
B. default

C. testing 1234

D. cisco123

Answer: C
NEW QUESTION 8

Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.
check the answer below.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 9

Which attribute does a router use to select the best path when two or more different routes to the same destination exist from two different routing protocols.

A. dual algorithm

B. metric

C. administrative distance
D. hop count

Answer: D

NEW QUESTION 10
Refer to Exhibit.

SW2

vip domain cisco

vip mods TrANSPATEOT

vip passwoerd ciscotest

interface fastethernetl/1
descriprion connecticn to swl
switchport mode trunk
switchport trunk encapsulation dotlg

How does SW2 interact with other switches in this VTP domain?

A. It processes VTP updates from any VTP clients on the network on its access ports.
B. It receives updates from all VTP servers and forwards all locally configured VLANSs out all trunk ports

C. It forwards only the VTP advertisements that it receives on its trunk ports.

D. It transmits and processes VTP updates from any VTP Clients on the network on its trunk ports

Answer: C

NEW QUESTION 10

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the

administrative distance of the route that will be installed in the routing table?
A. 20

B. 90

C. 110

D. 115

Answer: B

NEW QUESTION 13

Drag and drop the network protocols from the left onto the correct transport services on the right.
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IConnection Orented
SMTP
SNMP
TFTP
% c‘:P
IConnectionless
SSH
ETP
A. Mastered
B. Not Mastered
Answer: A
Explanation:
|Connection Onented
SMTP l |

NEW QUESTION 18
Refer to the exhibit.

ip Arp inspacrtisn visn 5-10

interface fastatharnet 071
switchport mods access
switchport access vian 5

What is the effect of this configuration?

A. All ARP packets are dropped by the switch

B. Egress traffic is passed only if the destination is a DHCP server.

C. All ingress and egress traffic is dropped because the interface is untrusted

D. The switch discard all ingress ARP traffic with invalid MAC-to-IP address bindings.
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Answer: D

NEW QUESTION 20

Refer to the exhibit.

192

192
L1 192

= 0O W 0

182 .

168
1é8

1e8.

168

Rl§ show 1p route

16
16
16.
16

0726 [90/2679326] wvia 152.168.1.1
0/24 [120/3]) wvia 192 .168.1.2
Of2l [1lU/2] wvia 19%2.168.1.23
0727 [115/30)] wvia 192 .168.1.4

Which route does R1 select for traffic that is destined to 192 168.16.27?

A. A.-192.168.16.0/21B.192.168.16.0/24C.192.168 26.0/26D.192.168.16.0/27

Answer: B

NEW QUESTION 25

Which IPv6 address block sends packets to a group address rather than a single address?

A. 2000::/3
B. FC00::/7
C. FE80::/10
D. FF00::/8

Answer: C

NEW QUESTION 26

Which two actions influence the EIGRP route selection process? (Choose two)

A. The router calculates the reported distance by multiplying the delay on the exiting Interface by 256.

B. The router calculates the best backup path to the destination route and assigns it as the feasible successor.

C. The router calculates the feasible distance of all paths to the destination route

D. The advertised distance is calculated by a downstream neighbor to inform the local router of the bandwidth on the link
E. The router must use the advertised distance as the metric for any given route

Answer: AD

NEW QUESTION 28

An engineer is asked to protect unused ports that are configured in the default VLAN on a switch. Which two steps will fulfill the request? (Choose two)

A. Configure the ports in an EtherChannel.

B. Administratively shut down the ports

C. Configure the port type as access and place in VLAN 99
D. Configure the ports as trunk ports

E. Enable the Cisco Discovery Protocol

Answer: AD

NEW QUESTION 29

An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual

machine?

A. platform-as-a-service
B. software-as-a-service
C. network-as-a-service
D. infrastructure-as-a-service

Answer: D

NEW QUESTION 33

Which mode allows access points to be managed by Cisco Wireless LAN Controllers?

A. autonomous
B. lightweight
C. bridge

D. mobility express

Answer: B

NEW QUESTION 36
Refer to Exhibit.
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Se0/0/1 2013 /126
Aflanta » Se000
Lo1
Defaut Route /0 wa Se(0/1
2012 /126
Se000 "2z Se(/0/1
| ~
New-York
LoZ

2023

126

o 9

Washington

Lo3

Static route to Lo1 on Atlanta via Se(/0/1

>e000 7

Configured routers IPv6 addresses
. Atlanta
Senal 0/0/0 . 20121126
Senal 000/1 . 2013.:1/126
Loopback1 2000:1/128
- New York.
Senal 00/0 - 2012:2/126
Senal 00/1 - 2023:2/126
Loopback2 2000 2/128
- Washington
Senal 000/0 2023 312
Senal 000/1 - 20133112
Loopback3 2000 :3/128

6
6

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta

goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 39

Drag and drop the IPv4 network subnets from the left onto the correct usable host ranges on the right

A. Mastered
B. Not Mastered

Answer: A

Explanation:

The Leader of IT Certification

- B §am g [
i ~d 4T T e i
id ¥ -
- %
—y TPl i = i 1-4..
- -
2 Q T
PRI L - B
T - IS
—— Tl ¥ | -
= = 44 & +
Ll a |
| S e ¥ -\4
& o oEme e =
- A 9" -
-
T a - ’ -
- = E 4 - | & & -
i i Ay
T =
LR = B =
=FS 50 =AY %
™
e N T & B P a0 e A S A
o o - b § — T
= f ._4
PR L= B &

visit - https://www.certleader.com



100% Valid and Newest Version 200-301 Questions & Answers shared by Certleader
https://www.certleader.com/200-301-dumps.html (103 Q&ASs)

CertLeader:

Leader of IT Certifications

NEW QUESTION 43
Which action is taken by a switch port enabled for POE power classification override?

A. When a powered device begins drawing power from a PoE switch port a syslog message is generated

B. As power usage on a PoE switch port is checked data flow to the connected device is temporarily paused

C. If a switch determines that a device is using less than the minimum configured power it assumes the device has failed and disconnects
D. If a monitored port exceeds the maximum administrative value for power, the port is shutdown and err-disabled

Answer: C

NEW QUESTION 46
Which 802.11 frame type is association response?

A. management
B. protected frame
C. control

D. action

Answer: B

NEW QUESTION 48
Which network allows devices to communicate without the need to access the Internet?

A.1729.0.0/16

B. 172.28.0.0/16

C. 192.0.0.0/8

D. 209.165.201.0/24

Answer: D

NEW QUESTION 52
Refer to the exhibit.

Router2 — ey

Router1

RouterZ2show ip route
Gateway of last resort is not set

10.0.0.0/8 is vanably subnetied, 4 subnets, 2 masks

C 10.10.10.8/30 is directly connected, FastEthermnetd/2
C 10 10.10 12/30 1s directly connected, FastEthemet(/1
0 10.10.13.0/25[110/11] wia 10.10.10.9, 00:00.03, FastEthermet0/2
[110/11] via 10.10.10.13, 00:00:03. FastEthermet(/1
C 10 10.10 4/30 1s directly connected, FastEthemnet(/2
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If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?

A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: D

NEW QUESTION 56
Which statement about Link Aggregation when implemented on a Cisco Wireless LAN Controller is true?

A. To pass client traffic two or more ports must be configured.
B. The EtherChannel must be configured in "mode active"
C. When enabled the WLC bandwidth drops to 500 Mbps
D. One functional physical port is needed to pass client traffic

Answer: C

NEW QUESTION 61

Which API is used in controller-based architectures to interact with edge devices?
A. overlay

B. northbound

C. underlay

D. southbound

Answer: D

NEW QUESTION 62
Drag and drop the functions from the left onto the correct network components on the right

I
-
LN
L
ity

A

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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hoids the TCP/IP setongs to be dstnbuted to the chents |

DHCP Server

] hoios the TCP/IP semings to be dstnbutad to the chents

resolves web URLs to [P agdresses | | resoives web URLs to [P addresses
. r — — A— -_— — S— A— S — A S— — A— b
stores 3 kst of [P addresses mapped to names | assigns [P addresses %0 enabled Chents
| .
— v — — — S— _—— — — — — — — — — —
3s5gns 3 02fault gateway 10 3 Chent |

sssgns [P s0dresses U0 enadied Chents

NEW QUESTION 66
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